Chapter 19 Review
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autooxidation- a process in which a substance acts as both an oxidation and a reducing agent
electrode- a conductor used to establish electrical contact with a nonmetallic part of a circuit, such as an electrolyte.
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	1. What are the oxidation numbers in the compound KCl?

	


K = 0, Cl = 0



K = 1, Cl = +1



K = +1, Cl = 1



K = +2, Cl = 2


	2. Which of the following are numbers assigned to atoms and ions to keep track of electrons?

	


charges



coefficients



electrode potentials



oxidation numbers



	3. In the reaction O2 + 4e– [image: image11.png]


2O2–, the species O2 is

	


oxidized.



reduced.



electrolyzed.



autooxidized.


	4. In the reaction F2 + Mg [image: image16.png]


2F– + Mg2+ , which species is oxidized?

	


F2 only



Mg only



both Mg and F2



neither Mg nor F2



	5. Which of the following is an oxidation-reduction reaction?
a. Na [image: image21.png]


Na+ + e – 
b. 2SO2 + O2 [image: image22.png]


2SO3 
c. N2O4 [image: image23.png]


2NO2 
d. 2e – + F2 [image: image24.png]


2F– 
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	6. How does the number of electrons lost in an oxidation compare with the number gained in the simultaneous reduction?

	


The two numbers are always equal.



The number lost is always greater than the number gained.



The number lost is always less than the number gained.



No relationship exists between the two numbers.



	7. The redox equation Cu2+ + 2Fe [image: image33.png]


Cu + 2Fe2+ is

	


correctly balanced.



correctly balanced for number of atoms but not for charge.



correctly balanced for charge but not for number of atoms.



not balanced for number of atoms or charge.


	8. After balancing the redox equation FeCl3 + Zn [image: image38.png]


ZnCl2 + Fe, the coefficients, in order from left to right, are

	


2, 2, 1, 2.



1, 1, 1, 1.



4, 3, 3, 4.



2, 3, 3, 2.



	9. In redox reactions,

	


the oxidizing agent is the substance reduced.



the reducing agent is the substance reduced.



the oxidizing agent is the substance oxidized.



both oxidizing and reducing agents are on the same side of the chemical equation.


	10. Which of the following reactions is an auto-oxidation?
a. 2NO2 [image: image47.png]


N2O4 
b. N2 O3 [image: image48.png]


NO2 + NO
c. 2NO + O2 [image: image49.png]


2NO2 
d. N2 + O2 [image: image50.png]


2NO
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	11. In an electrochemical cell,

	


both the cathode and anode are positively charged.



both the cathode and anode are negatively charged.



the cathode is negatively charged and the anode is positively charged.



the cathode is positively charged and the anode is negatively charged.


	12. The voltage of a voltaic cell is determined by the E0 value(s) of the

	


half-reaction at the anode.



half-reactions at the cathode and anode.



half-reaction at the cathode.



standard hydrogen electrode.



	13. For electricity to flow in a voltaic cell, the two half-cells must be

	


connected by a wire and a porous barrier.



completely isolated from one another.



in the same solution.



connected to a dry cell.


	14. Electroplating is an application of which reaction?

	


electrolytic reactions



electrochemical reactions



auto-oxidation reactions



voltaic reactions



